



Type:2 RHS = 
$$\cos(\alpha x + by)$$
 or  $\sin(\alpha x + by)$ 

Replace  $D^2 \rightarrow -a^2$ 
 $DD' \rightarrow -ab$ 
 $D'^2 \rightarrow -b^2$ 

1. Solve  $(D^2 - 2DD' + D^{12}) z = (\cos(x - 3y))$ 

Auxillary Equation is  $m^2 - 2m + 1 = 0$ 
 $(m - 1)(m - 1) = 0$ 
 $m = 1, 1$  (equal)

 $\therefore cF = \frac{1}{b^2 - 2DD' + D^2} \cos(x - 3y)$ 
 $PI = \frac{1}{D^2 - 2DD' + D^2} \cos(x - 3y)$ 
 $= \frac{1}{-1 - 2(3) - 9} \cos(x - 3y)$ 
 $= \frac{1}{-1 - 2(3) - 9} \cos(x - 3y)$ 
 $z = (cF + PI)$ 
 $= \frac{1}{1 + (y + x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (y + x) + x(2(y + x))} \sin(2x + y)}$ 
 $z = (cF + PI)$ 
 $= \frac{1}{1 + (y + x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = (cF + PI)$ 
 $= \frac{1}{1 + (y + x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = (cF + PI)$ 
 $= \frac{1}{1 + (y + x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (2x + y)} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (2x + y)} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (2x + y)} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (2x + y)} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + (2x + y)} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}$ 
 $z = \frac{1}{1 + (y + 2x) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))} \sin(2x + y)}{\sin(2x + y) + x(2(y + x))}$ 





The solution is 
$$Z = CF + PI$$

$$= \frac{1}{4} (y - 2x) + \frac{1}{12} (y + 2x) - \frac{x}{4} \cos(2x + y)$$

$$= \frac{1}{12} (y - 2x) + \frac{1}{12} (y + 2x) - \frac{x}{4} \cos(2x + y)$$

$$= \frac{1}{12} \frac{1}{2 - 3DD' + D'^2} = \frac{1}{2} \sin(x + y) + \sin(x - y)$$

$$= \frac{1}{12} \frac{1}{2 - 3DD' + D'^2} = \frac{1}{2} [\sin(x + y) + \sin(x - y)]$$

$$= \frac{1}{12} \frac{1}{12} \sin(x + y) + \sin(x - y)$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$= \frac{1}{12} \left[ PI_1 + PI_2 \right] \rightarrow 0$$

$$=$$





H.W: 1. Find the PI of 
$$(0^{2}+300^{1}-40^{12})z = siny$$
  
2. Find the PI of  $\frac{0^{2}Z}{8x^{2}} - 3\frac{3^{2}Z}{8x^{3}y} + 2\frac{9^{2}Z}{8y^{2}} = sin (3x+2y)$ 

Type 8: 
$$x^m y^n$$

1. Solve  $(D^2 + 4D^1 + 4D^1)^2 = xy$ 

AE is  $m^2 + m + 4 = 0 \Rightarrow (m-2)(m-2) = 0$ 
 $m = 2/2$ .

$$PT = \frac{1}{D^{2} + 2D' + 4D'^{2}} + 2D' + 2D' + 2D' + 2D' + 2D' + 2D'^{2}}$$

$$= \frac{1}{D^{2}} \left[ 1 - \left( \frac{AD'}{D} - \frac{AD'^{2}}{D^{2}} \right) \right]^{\frac{1}{2}} dy$$

$$= \frac{1}{D^{2}} \left[ 1 + \left( \frac{AD'}{D} - \frac{AD'^{2}}{D^{2}} \right) \right]^{\frac{1}{2}} dy$$

$$= \frac{1}{D^{2}} \left[ 1 + \left( \frac{AD'}{D} - \frac{AD'^{2}}{D^{2}} \right) + \dots \right] dy \quad \left[ \cdot (1 - x)^{-1} = 1 + x + x + x^{\frac{1}{2}} \right].$$

$$= \frac{1}{D^{2}} \left[ xy + \frac{AD'}{D} (xy) - 0 \right]$$

$$= \frac{1}{D^{2}} \left[ xy + \frac{AD'}{D} (xy) - 0 \right]$$

$$= \frac{1}{D^{2}} \left[ xy + \frac{AD'}{D} (xy) - 0 \right]$$

$$= \frac{1}{D^{2}} \left[ xy + \frac{AD'}{D} (xy) - \frac{A^{3}}{D} (xy) - \frac{A^{3}}{D^{2}} (xy) + \frac{A^{3}}{D^{3}} (xy) - \frac{A^{3}}{D^{2}} (xy) + \frac{A^{3}}{D^{3}} (xy) - \frac{A^{3}}$$





$$= \frac{2^{3}y + 4x^{4}}{6}$$

$$= \frac{2^{3}y + \frac{x^{4}}{8}}{6}$$

.. The solution is z = CF+PI

2) Find the PI of (D=DD'-2012) Z= 2x+3y

$$PI = \frac{1}{D^{2}DD^{1}-2D^{12}} (2x+3y)$$

$$= \frac{1}{D^{2}\left[1-\frac{DD^{1}}{D^{2}}-\frac{2D^{12}}{D^{2}}\right]} (2x+3y) = \frac{1}{D^{2}}\left[1-\left(\frac{D^{1}}{D}-\frac{2D^{12}}{D^{2}}\right)\right] (2x+3y)$$

$$= \frac{1}{D^{2}}\left[1+\left(\frac{D^{1}}{D}-\frac{2D^{12}}{D^{2}}\right)+\dots\right] (2x+3y)$$

$$= \frac{1}{D^{2}}\left[2x+3y+\frac{D^{1}}{D}(2x+3y)\right]$$

$$= \frac{1}{D^{2}}\left[2x+3y+\frac{1}{D}(3)\right] = \frac{1}{D^{2}}(2x+3y)+\frac{1}{D^{2}}(3)$$

$$= \frac{1}{D^{2}}\left[2x+3y+\frac{1}{D}(3)\right] = \frac{1}{D^{2}}(2x+3y)+\frac{1}{D^{2}}(3)$$

$$= \frac{1}{D^{2}}\left[2x+3y+\frac{1}{D}(3)\right] = \frac{1}{D^{2}}\left[2x+3y\right] + \frac{1}{D^{2}}(3)$$

$$= \frac{1}{D^{2}}\left[2x+3y\right] \rightarrow \frac{1}{D^{2}}\left[2x^{2}+3xy\right] \rightarrow \frac{4}{2}\frac{x^{3}}{3} + \frac{3x^{2}y}{2}$$

$$= \frac{1}{D^{2}}\left[3x+\frac{3x^{2}y}{2}+\frac{x^{2}}{3}\right] \rightarrow \frac{x^{3}}{3}$$

$$= \frac{x^{3}}{3} + \frac{3x^{2}y}{2} + \frac{x^{2}}{3}$$

$$= \frac{x^{3}}{3} + \frac{3x^{2}y}{2} + \frac{x^{2}}{3}$$





RHS 
$$\Rightarrow$$
  $Q^{ONHMY}$  +  $Sin (anthy) (er) Q^{ONHMY}$  +  $Cas(anthy)$ 

1) Solve:  $(D^2 DD' - 200^{12})Z = Q^{5X+y} + Sin (4x-y)$ 

AE &  $M^2 - M - 80 = 0$ 
 $(M-5) (M+A) = 0 \Rightarrow M=5, -4$ 

$$CF = \int_{1} |y - 4\pi\lambda| + \int_{2} (y + 5\pi\lambda)$$

PI =  $\frac{1}{D^2 DD' - 200^{12}} \left[ e^{5x+y} + Sin (4x-y) \right]$ 

$$= \int_{2}^{1} \frac{1}{D^2 DD' - 200^{12}} \left[ e^{5x+y} + Sin (4x-y) \right]$$

$$= PI_{1} + PI_{2}$$

$$= PI_{1} + PI_{2}$$

$$= \frac{1}{25 - 5 - 20} e^{5x+y} + \frac{1}{2(6) - 13} e^{5x+y}$$

$$= \frac{1}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{1}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{2(6) - 13} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y}$$

$$= \frac{2}{25 - 5 - 20} e^{5x+y} = \frac{2}{25 - 5 - 20} e^{5x+y$$





$$= -\frac{1}{63} \cos (4x - y)$$

$$= -\frac{1}{4} \cos (4x - y)$$
The series  $z = cc + PI$ 

$$= \frac{1}{1}(y - 4x) + \frac{1}{12}(y + 5x) + \frac{1}{4}e^{5x + y} - \frac{1}{4}\cos(4x - y)$$

$$= \frac{1}{1}(y - 4x) + \frac{1}{12}(y + 5x) + \frac{1}{4}e^{5x + y} - \frac{1}{4}\cos(4x - y)$$

$$= \frac{1}{1}(y - 4x) + \frac{1}{12}(y + 5x) + \frac{1}{12}e^{5x + y} - \frac{1}{4}\cos(4x - y)$$

$$= \frac{1}{1}(y - 4x) + \frac{1}{12}(y + 5x) + \frac{1}{12}(x - y)$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{6x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{6x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{6x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{6x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = e^{2x + y} + e^{2x + y}$$

$$= \frac{1}{1}(x - y) = \frac{1}{1}(x - y) = \frac{1}{1}(x - y)$$

$$= \frac{1}{1}(x - y) = \frac{1}{1}(x - y) = \frac{1}{1}(x - y)$$

$$= \frac{1}{1}(x - y) = \frac{1}{1}(x - y) = \frac{1}{1}(x - y)$$

$$= \frac{1}{1}(x - y) = \frac{1}{1}(x - y) = \frac{1}{1}(x - y)$$

$$= \frac{1}{1}(x - y) = \frac{1}{1}(x - y) = \frac{1}{1}(x - y)$$

$$= \frac{1}{1}(x - y) =$$





$$= \frac{1}{(D+1)^{2} - 2(D+1)(D+1) + (D+1)^{2}} e^{x+y} x^{2}y^{2}$$

$$= \frac{1}{D^{2} + 2D + 1 - 2DD - 2D - 2D - 2D - 2D + D^{2} + 2D + 1} e^{x+y} x^{2}y^{2}$$

$$= \frac{1}{D^{2} - 2DD + D^{2}} e^{x+y} x^{2}y^{2}$$

$$= e^{x+y} \frac{1}{D^{2}} \left[ 1 + \left( \frac{2D'}{D} - \frac{D^{2}}{D^{2}} \right) + \dots \right] x^{2}y^{2}$$

$$= e^{x+y} \frac{1}{D^{2}} \left[ x^{2}y^{2} + \frac{2D'}{D^{2}} x^{2}y^{2} - \frac{D^{2}}{D^{2}} x^{2}y^{2} \right]$$

$$= e^{x+y} \left[ \frac{1}{D^{2}} x^{2}y^{2} + \frac{2D'}{D^{2}} x^{2}y^{2} - \frac{D^{2}}{D^{2}} x^{2}y^{2} \right]$$

$$= e^{x+y} \left[ \frac{1}{D^{2}} x^{2}y^{2} + \frac{1}{D^{2}} x^{2}y^{2} - \frac{D^{2}}{D^{2}} x^{2}y^{2} \right]$$

$$= e^{x+y} \left[ \frac{1}{D^{2}} x^{2}y^{2} + \frac{1}{D^{2}} x^{2}y - \frac{2}{D^{2}} x^{2}y^{2} \right]$$

$$= e^{x+y} \left[ \frac{1}{D^{2}} x^{2}y^{2} + \frac{1}{D^{2}} x^{2}y - \frac{2}{D^{2}} x^{2}y^{2} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^{2}y^{2}}{12} - \frac{x^{2}y^{2}}{12} \right]$$

$$= e^{x+y} \left[ \frac{x^{2}y^{2}}{12} + \frac{x^$$





Solve 
$$Y+8-b = y \cos x$$
  
Given:  $\frac{8^{3}z}{8x^{2}} + \frac{8^{3}z}{8x^{3}y} - 6\frac{8^{3}z}{8y^{2}} = y \cos x$   
 $(D^{2}+DD^{1}-6D^{12}) z = y \cos x$   
 $m^{2}+m-b = 0. \Rightarrow (m+3)(m-2) = 0.$   
 $m = -3/2.$   
 $CF = f_{1}(y-3x) + f_{2}(y+2x)$   
 $PI = \frac{1}{(D^{2}+DD^{1}-6D^{12})}$   $y \cos x$   $f_{1}(x \cos x) - 2D'$   $y \cos x$   $f_{2}(x \cos x) - 2D'$   $f_{3}(x \cos x) = \frac{1}{(D+3D^{1})} (c-2x) \cos x dx$   $f_{2}(x \cos x) = \frac{1}{(D+3D^{1})} [(c-2x) \cos x dx]$   $f_{2}(x \cos x) = \frac{1}{(D+3D^{1})} [(c-2x) \sin x - (-2)(-\cos x)]$   
 $= \frac{1}{(D+3D^{1})} [y \sin x - 3 \cos x] + \cot x \rightarrow D + \sin x$   
 $= (c+3x) (-\cos x) - 3(-\sin x) - 3\sin x$   
 $= -y \cos x + 3\sin x - 3\sin x$   
 $= -y \cos x + \sin x$